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SHM6E12A6H (&ER)
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(% L EBEREET)
ey _ HFE R ke) 1% #YFE taxtER|
a—Fk A R A8 #YFE | HExtEE | Efike) R E(F) BiEm) | sEm) | wEe)
130100(/=W 2 A biToesY 25,440
130100|7=\W 2 A 1= 2,800 2,800 10 1,620 648
130100(/=W 2 A ey = 10,120 9,140 10 2,063 972
130100|7=\W 2 A RI%G 8,640 8,640 12 1,728 1,404
13034003 ICA LA biToesY 12,660
130340[%ICA CA FiE 2,310 2,310 10 2,074 1,318
13034003 ICA LA RIG 7,650 7,650 10 2,592 1,253
130340[%ICA CA RER 1,330 1,330 10 3,456 1,685
130400[Z1E 5 biToesY 2,384
130400| 1% 5 g 530 530 10 4,320
130400| 1% 5 B 1,150 1,150 10 4,860 1,566
130600| A T A bne 1,960
130600({1 A Z A ey = 1,780 0 1,780 5 3,888 1,026
131100|H 3% be 27,194
131100|83% A, 20,229 945 14,400 15 864 1,836 972
131100({A 3% 2 1,065 165 900 15 1,188 2,700 1,728
13110018 3% HE 2,600 0 2,600 13 1,188
131700(F v X/ be 25,336
131700(F v XV ZH 8,770 6,530 10 3,024 1,458
131700(F v X/ k& 9,056 9,056 12 2,376 1,042
131800{IF > NAE biToesY 1,037
131800(|1Z S NAE FE 47 47 0 0.2
131800{IF > NAE 12 698 0 698 4.5 4,320 2,700
131910|Fh & be 1,003




131910(Fh & KB 8 8| 0.045 63 62
131910|F R & i 1L 175 175 1 1,080 648
131910(Fh & EiE 295 295 10 2,592

131950|H A& ¥ 3,835

131950(BE & =SS 670 0 70 5 3,240 3,024
131950|H A& SR 1,160 0 636 3 2,160 972
131950(BAh & RS 72 0 72 3 1,512 1,080
133400 L % X ¥ 10,820

133400|L % & I 40 0 20 10 4,536

133400 L % X 5B 6,940 0 6,300 10 5,184 2,074
133400|L % & wE 1,290 0 1,290 10 5,400 4,104
133400 L % X Rl 1,590 0 900 10 3,240 1,566
134100|8A/X ¥ 7,991

134100|8AM h¥= 1,041 0 1,041 5 2,808 2,160
134100|8A/X &I 235 0 235 5 2,376 1,620
134100|8AM = A 430 0 430 5 3,024 2,106
134100|8A/X =y 5,750 0 5,005 5 3,024 2,214
134200|m /X TeE 3,940

134200|F /M XF 3 1,200 0 1,100 10 3,996 3,024
134300(71F ToE 2,732

134300|50F wE 277 277 2 1,512 972
134300(71F = A 1,821 1,767 0.27 151 130
134300|50F & 394 394 0.3 205 194
134500 &' —~ >~ ¥ 4,451

134500 "=~ ~ = Al 999 990 0.15 119 103
134500 &' —~ >~ = I 3,352 3,352 0.13 119 95
135100 WA T A ¥ 88

135100| W A I A = A 42 42 2 4,320 3,024
135100V AT A BRS 40 40 2 3,456 2,808
135200|%= ¥ 15




135200|%= FNE L 10 10 2 4,320
136100(AA L & ¥ 25,880

136100|HA L & T 19,055 19,055 5 3,240 540
136100(AA L & & 3,625 3,405 5 2,052 540
136100[HA L & Ry 3,200 3,200 2,160 1,188
136200|%#%& ¥ 1,430

136200| %5 timE 1,430 1,430 10 1,998 1,696
136210( X —7 1 ~ ¥ 11,600

136210| X —27 4 >~ Jtime 11,600 11,000 10 2,376 896
136300|2F ¥ 1,760

136300|8F EiE 1,710 1,680 10 5,292 2,484
136600|7z & ¥ 43,190

136600|7- & Jtime 39,430 39,430 20 3,402 2,646
136600|7z & 5B 3,740 3,740 10 2,700 1,404
138100 L Wizl ¥ 1,689

138100({& L W /o lF 5B 60 45 0.1 167 49
138100 L Wizl fig Ly 115 115] 0.05 65
138100({& L W /o lF BE 1,514 1,368 0.2 281 81
138500| L& LE ¥ 1,596

138500(L® LE g 1,621 1,229 0.2 151 113
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(B ILHEREST)
28 os e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240400| B4 BMAD A |FEK 22,132
240400| R4 EINAN A | FFRWL 17,442 0| 17,442 10 5,184 648
240400| B4 BN A D A FiE 3,870 0 3,270 10 2,808 1,620
240700 @EINA DA |FREK 4,948
240700 [ F@EMN A D A FiE 4,948 0 4,948 5 2,376 1,620
241470| = A DA HE 113
24147012 A DA =4 113 0 113] 0.25 302 259
242320\ aF3— K |#EK 3,219
242320 a+ - K B 3,219 0 1,710 10 6,480 3,780
242830|.5% LW AT bioese 9,829
242830(3 LW AT B 5,319 0 1,150 3
242830|.%LC WA T =% 2,000 0 2,000 10 9,180 3,780
242850(FEMY A Z Eoe= 1,287
242850|EM N A Z B 1,287 0 370 3
243610|2 B & Eoe= 3,330
243610|2 B & =R 3,330 2,880 450 10 3,780 1,944 3,888 3,240
246000({\ 5B & Eoe= 2,482
246000|L B & H 55 0 55 0.3 864
246000({\ 5B & & 458 0 4501 0.27 864 410
246000|L B & K& 915 0 910 0.26 810 356
246000({\ 5B & REAS 910 0 693| 0.25 680 432
246000|L B & = I 145 0 95| 0.26 756 540
247100| 7 —L 2 X Oy (% 359
247100|7 — L2 X Oy | E:fE 292 0 274 9 12,960




[ 247100[7 =12 20> | B4 | | 67 0| 671 6 | | | | 259] | 2.268]




